
To what extent were divisions among its opponents responsible for the survival of Tsarist rule in 

the years 1894–1905? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The weaknesses and divisions of the opposition were primarily responsible for the failure of the 

1905 revolution.’ How far do you agree? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The Tsarist regime survived in 1905 mainly because it made massive concessions to its opponents.’ 

How far do you agree with this statement? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



How accurate is it to say that the growth of reformist groups in the years from 1894 was the main 

cause of the 1905 Revolution? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The economy of Tsarist Russia was transformed in the years to 1914’ How far do you agree? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



To what extent was the Tsarist system of government modified in the years 1894–1914? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The Tsarist government was transformed in the years 1906–14.’ 

How far do you agree with this statement? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



To what extent did Russia undergo profound political and economic reform in the years 1906-14? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



How far do you agree that the use of repression was the main reason for the weakness of 

opposition to Tsarism in the years 1894–1914? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



To what extent were Tsarina Alexandra and Rasputin responsible for declining confidence in Tsarist 

rule in Russia in the years 1914-17? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘Stolypin’s reforms transformed Russian agriculture in the years 1906–14.’ 

How far do you agree with this statement? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



How far was the Provisional Government responsible for its own downfall? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



To what extent does the impact of the First World War explain the outbreak of the revolution of 

February 1917? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘Lenin’s leadership was the most important reason for Bolshevik success in the revolution of 

October 1917.’ How far do you agree? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The fall of the Provisional Government in 1917 owed more to its domestic policies than to its 

decision to stay in the war.’ How far do you agree? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The communist seizure of power in October 1917 owed more to Bolshevik strengths than to the 

weaknesses of the Provisional Government.’ How far do you agree with this statement? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘The weaknesses of their opponents was responsible for the survival of the Bolshevik government in 

the years 1917-24.’ How far do you agree? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘In the years 1921-24, the NEP succeeded in bringing political and economic stability to the USSR’ 

How far do you agree? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘Tsarist government in the years 1894-1905 was fundamentally similar to Tsarist government in the 

years 1906-14.’ How far do you agree with this statement? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



How far do you agree that the survival of the Bolshevik regime, in the years 1917-21, owed more to 

the weaknesses of its opponents than to the leadership of Lenin and Trotsky? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



How far do you agree that the survival of the Tsarist system, in the years 1894-1906, owed more to 

the weaknesses of its opponents than to government policies? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



To what extent did the Bolshevik government consolidate communist rule in Russia in the years 

1918-21? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



‘Tsarist government in the years 1894-1905 was fundamentally similar to Tsarist government in the 

years 1906-14.’ How far do you agree with this statement? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 

analysis: 

 

Conclusion:  



How far do you agree that the survival of the Bolshevik regime, in the years 1917-21, owed more to 

the weaknesses of its opponents than to the leadership of Lenin and Trotsky? 

Intro:  

FP topic:  

FP detail:  

FP 

analysis: 

 

SP topic:  

SP detail:  

SP 

analysis: 

 

TP topic:  

TP detail:  

TP 
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Conclusion:  



 


